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Name:

Pick the right answer and use the color to the corresponding number.

**Please work your answers on a separate paper.

1 15x+2.7=063 Brown Red Green
x =24 x =23 x = 2.8
2 03y —-06=12 Red Light blue Brown
y=29 y=26 y=175
3 x 1 5 Red Orange Yellow
27376 x=1 3 1
4 2
4 2 1 3 Dark Blue Green Orange
Y"1 10 1 12 11
Y=g V=13 Y=g
5 x 2 7 Green Yellow Red
37518 Lt . i
5 5 15
6 24z4+18=78 Yellow Black Pink
z=4 z =234 z =25
7 0.6a —09 =27 Pink Green Light Blue
a=3 a==~6 a =9
8 ba 2 1 Pink Yellow Brown
9 3 9 7 3 1
a = E a = E a = E
9 4b 1 9 Blue Red Green
1Ts5°11 3 23 17
b=3 =1 T
10 1.2b4+ 05 =41 Orange Yellow Black
bh=6 b=3 b=1
11 c 1 Dark Blue Black Green
3 6 2 c=2 c=34 c=26
12 3d 1 5 Yellow Light Blue Orange
T 271 d=3 d=1 L_5
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